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1. – 18. sorularda, cümlede boş bırakılan yer-
lere uygun düşen sözcük ya da ifadeyi bulu-
nuz. 

1. When taken in doses of more than 10 times the 
recommended daily ----, vitamins A and D are 
toxic. 

A) maintenance  B) exposure 

C) application  D) advice 

 E) allowance 

 

 

 

2. Many people with a regular exercise programme 
accept minor injuries and soreness as an almost  
---- component of their programme. 

A) irrelevant  B) available 

C) inevitable  D) expansive 

 E) irreversible 

 

 

3. Despite a preoccupation with body image and 
weight loss, the prevalence of obesity in the US 
continues to rise ----. 

A) collectively  B) adequately 

C) randomly  D) respectively 

 E) dramatically 

 

 

 

4. The goal of the Neuroscience Research 
Programme is to ---- our understanding of the 
neuronal systems involved in a variety of 
neurological disorders. 

A) rank  B) relate 

C) implicate  D) increase 

 E) interact 

 

 

5. The body resists starvation by ---- its own tissues 
and using them as a source of calories – much 
like burning the furniture to keep the house 
warm. 

A) getting off  B) breaking down 

C) carrying out  D) following up 

 E) making for 

 

 

 

 

 

6. Billions of useful bacteria colonize our guts, but 
because antibiotics are lethal to a whole range of 
microbes, drugs taken for a chest infection, for 
example, ---- friendly bacteria too. 

A) wipe out  B) sort out 

C) build up  D) take back 

 E) move in 

 

 

 

 

 

7. Prevention is the ideal way to approach pain, and 
several educational programmes that ---- workers 
to avoid lower back injuries ---- some 
effectiveness. 

A) are training / would show 

B) would train / had shown 

C) have trained / showed 

D) train / have shown 

E) trained / will show 
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8. Psychologists, psychiatrists and neuroscientists 
---- for years over how much of our behaviour ---- 
driven by our genes versus the environment in 
which we grow up and live. 

A) had argued / had been 

B) used to argue / would be 

C) have argued / is 

D) argue / would have been 

E) argued / will be 

 

 

 

 

9. For a long time, scientists believed that 
functional deficits in certain brain regions ---- 
autism – the result of complications in brain 
structure that no change in wiring among neural 
networks ----. 

A) might cause / had fixed 

B) caused / could fix 

C) have caused / fixes 

D) cause / could have fixed 

E) would have caused / fixed 

 

 

 

10. Epidemiology, which ---- as a science until the 
19th century, is a branch of medicine that 
investigates factors ---- to improved health, or the 
occurrence of a disease in a particular 
population. 

A) could not have evolved / having contributed 

B) had not evolved / to contribute 

C) has not evolved / to have contributed 

D) did not evolve / contributing 

E) could not evolve / to be contributing 

 

 

 

 

11. Although 25 to 30 per cent of all people ---- some 
form of excessive mood disturbance during their 
lifetime, only about 10 per cent ---- a disorder 
severe enough to require medical attention. 

A) would experience / have had 

B) experienced / will have had 

C) had experienced / had had 

D) will have experienced / would have 

E) experience / have 

 

 

 

12. In biofeedback, biological responses are 
measured ---- electronic instruments, and the 
status of those responses is immediately 
available ---- the person being tested. 

A) with / at B) by / to C) in / about 

 D) from / on E) through / with 

 

 

 

13. Perhaps the most crucial factor ---- patient non-
compliance is poor verbal communication ---- the 
practitioner and the patient. 

A) for / by  B) of / among C) about / of 

 D) in / between E) to / for 

 

 

 

14. ---- physical activity can enhance physical 
functioning, reduce anxiety, stress, and 
depression, it also poses some hazards to one’s 
physical and psychological health. 

A) Although  B) Since 

C) Whether  D) In case 

 E) Unless 
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15. ---- surgeons in France had performed the first 
partial face transplant late in November, 
psychologists began to question whether the 
patient was mentally stable enough to handle the 
stressful, high-risk procedure. 

A) Suppose that B) So long as 

C) As soon as  D) Because 

  E) If 

 

 

 

16. ---- people have been diagnosed with 
cardiovascular disease (CVD), they typically enter 
a cardiac rehabilitation programme to change 
their lifestyle and thereby avoid subsequent CVD. 

A) Whereas  B) After 

C) While  D) Even though 

 E) As if 

 

 

 

17. In veterinary medicine, federal governments and 
professional associations keep data on animal 
euthanasia and, ---- the research results obtained 
so far, have developed guidelines and 
procedures. 

A) in the hope of B) as of 

C) in case of  D) in accordance with 

 E) on behalf of 

 

 

 

18. The anaemia of folate deficiency, ---- DNA 
synthesis slows and the body’s cells lose their 
ability to divide, is characterized by large, 
immature blood cells. 

A) in which  B) for whom 

C) how  D) in that 

 E) why 

 

 

19. – 23. sorularda, aşağıdaki parçada numa-
ralanmış yerlere uygun düşen sözcük ya da 
ifadeyi bulunuz. 

People may bruise easily because of fragile 
capillaries in the skin. Each time these small blood 
vessels break, a little blood (19) ----, leaving tiny red 
dots in the skin and bluish-purple bruises. Women 
seem more prone than men to bruising from a minor 
injury, especially (20) ---- the thighs, buttocks, and 
upper arms. Older people are especially susceptible 
to bruising after bumps and falls (21) ---- they have 
fragile blood vessels and a thinner layer of fat under 
the skin, which normally serves as a cushion to help 
protect against injury. For most people, the condition 
isn’t serious, but bruising easily (22) ---- a sign that 
something is wrong with the blood clotting elements, 
most likely the platelets. Blood tests can determine if 
(23) ---- problems exist. 

 

19.  

A) passes by B) comes up C) runs away 

 D) breaks off E) leaks out 

 

 

20.  

A) on  B) with  C) throughout 

 D) through E) over 

 

 

21.  

A) unless  B) even so C) because 

 D) whereas E) so that 

 

 

22.  

A) has to be B) should be C) would be 

 D) may be E) will be 

 

23.  

A) such  B) no  C) much 

 D) so  E) many 
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24. – 35. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz. 

24. Even after a drug has been approved by the Food 
and Drug Administration (FDA), ----. 

A) such drugs are occasionally studied first in a 
small number of healthy volunteers 

B) comprehensive premarketing studies detected 
adverse reactions about once in every 1,000 
doses 

C) many drugs are rejected at this stage, too 

D) the manufacturer must conduct postmarketing 
surveillance and report any previously 
undetected adverse drug reactions 

E) it was 3 years before the drug came onto the 
market 

 

 

25. Because symptoms of sleep apnea occur during 
sleep, ----. 

A) severe apnea can result in headaches, 
excessive daytime sleepiness and slow mental 
activity 

B) they must be described by someone who 
observes the person sleeping 

C) snoring is associated with episodes of gasping 
and choking 

D) most people have been treated successfully and 
can now sleep comfortably 

E) people who snore are advised to sleep on their 
side or face-down 

 

 

26. Even when a cell becomes cancerous, ----. 

A) antigens released into the bloodstream by some 
cancers are sometimes called tumour markers 

B) it is a cell whose biological function has been 
altered 

C) a fully functioning immune system can’t always 
destroy all these cancer cells 

D) the immune system may regard these cells as 
foreign 

E) the immune system can often destroy it before it 
replicates 

27. While some drugs, once absorbed, tend to stay 
within the watery tissues of the blood and 
muscle, ----. 

A) others concentrate in specific tissues such as the 
liver and kidneys 

B) drugs penetrate different tissues at different 
speeds 

C) all drugs are either metabolized or excreted 
intact 

D) these drugs accumulate in the fatty tissues 

E) they rapidly circulate through the body 

 

 

 

 

28. Armed with gene sequences and the latest gene 
chip technologies to measure the activity of 
thousands of genes simultaneously, ----. 

A) high-risk groups can be targeted with more 
aggressive screening programmes 

B) antibody-based therapies have an inherent 
limitation 

C) the tissue that surrounds a tumour plays a 
crucial role in its development 

D) anti-cancer drugs have been largely a matter of 
dosing people and waiting to see what happens 

E) researchers are now several years into the task 
of mapping which ones grow abnormally 

 

 

 

29. Although the cause of Reye’s syndrome is 
unknown, ----. 

A) most doctors are unaware of its effects 

B) people who take aspirin have an increased risk 
of bleeding 

C) certain viruses, such as influenza A or B or 
varicella virus, may be involved 

D) the doctor would perform a liver biopsy and 
spinal tap to diagnose it 

E) no specific treatment can be proposed to prevent 
it 
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30. According to recent studies, bananas are the 
most promising food for an edible vaccine 
against the hepatitis B virus, ----. 

A) but this virus is very common in many African 
countries 

B) so that potatoes, tomatoes and other vegetables 
might serve to immunize people some day 

C) just as symptoms of acute viral hepatitis usually 
begin suddenly 

D) which lives in about 5 per cent of the world’s 
population 

E) whereas scientists have discovered a way to 
boost the level of immune-triggering hepatitis 
protein in the fruit 

 

 

31. Cancer cells are often perceived as all having the 
same potential to proliferate and spread within 
the body, ----. 

A) because cancer treatments must target cancer 
stem cells to eradicate the disease 

B) but in many types of cancer, only a small subset 
of tumour cells has that power 

C) where the study of stem cells is shedding light on 
cancer treatments today 

D) so one among thousands of tumour cells may be 
a cancer stem cell responsible for driving the 
disease 

E) since current treatments focus on killing the 
greatest number of cancer cells 

 

 

32. Audiometry measures hearing loss precisely with 
an electronic device ----. 

A) that produces sounds at specific pitches and 
specific volumes 

B) if a person listens to a series of two-syllable, 
equally accented words presented at specific 
volumes 

C) although it measures how loudly words have to 
be spoken to be understood 

D) because loud tones presented to one ear may 
also be heard by the other ear 

E) even if it detects how much sound passes 
through the middle ear 

33. For any pain syndrome, surgery is the most 
extreme approach and is usually recommended    
----. 

A) because it has its own potential dangers and 
possibilities for complications 

B) in case the pain starts suddenly and stays in a 
particular area of the back 

C) only when all the other means of treatment have 
failed to produce a positive result 

D) unless back surgery is only partially successful in 
repairing tissue damage 

E) as long as drugs, skin stimulation and surgery 
can all be effective for controlling pain 

 

 

 

34. Bulimia nervosa occurs with equal prevalence in 
various social classes and ethnic groups, ----. 

A) while people who have this disease are 
distressed by it 

B) but both eating disorders occur far more often in 
women than men 

C) even though anoxeria nervosa has a mortality 
rate of 5% to 10% 

D) since an antidepressant drug can often help 
control the disease 

E) whereas anorexia nervosa appears primarily 
among the upper classes 

 

 

35. People with extensive burns have an increased 
risk of infection ----. 

A) so that a new layer of epidermis grows slowly 
from the edges of the burned area 

B) whereas many people who have been burned 
need to take an analgesic, often a narcotic, for at 
least a few days 

C) although damaged red blood cells in the injured 
area may make the burn bright red 

D) because the damaged skin opens up the body to 
invasion by harmful organisms 

E) but life-threatening burns require immediate 
care, preferably at a hospital equipped to treat 
burns 
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36. – 38. sorularda, verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz. 

36. Most infectious diseases are caused by 
microorganisms that invade the body and 
multiply there. 

A) Pek çok bulaşıcı hastalığın nedeni vücuda ya-
yılan ve vücutta üreyen mikroorganizmalardır. 

B) Mikroorganizmalar, vücuda girerek ve vücutta 
çoğalarak, çeşitli bulaşıcı hastalıkların oluşma-
sına yol açar. 

C) Çoğu bulaşıcı hastalık, vücudu işgal eden ve 
vücutta çoğalan mikroorganizmalar nedeniyle 
oluşur. 

D) Bulaşıcı hastalıkların nedenlerinin çoğu, vücuda 
girerek çoğalan mikroorganizmalarla ilgilidir. 

E) Üreyip vücudu ele geçiren mikroorganizmalar 
nedeniyle birçok bulaşıcı hastalık ortaya çık-
maktadır. 

 

 

 

 

37. The severity of a burn depends on the amount of 
tissue affected and the depth of the injury, which 
is described as first, second, or third degree. 

A) Bir yanığın şiddeti, etkilenen doku miktarına ve 
hasarın birinci, ikinci veya üçüncü derece olarak 
tanımlanan derinliğine bağlıdır. 

B) Etkilenen dokuların durumu ve oluşan hasarın 
derinliği, yanığın birinci, ikinci veya üçüncü de-
rece olarak belirtilen şiddetini ortaya koyar. 

C) Bir yanığın birinci, ikinci veya üçüncü derece 
olarak sınıflandırılan hasar derinliği ile zarar 
görmüş doku miktarına dayanılarak o yanığın 
şiddeti belirlenir. 

D) Bir yanığın şiddetinin birinci, ikinci veya üçüncü 
derece olarak tanımlanması, zarar gören doku 
miktarıyla ve ortaya çıkan hasarın derinliğiyle 
ilişkilidir. 

E) Birinci, ikinci veya üçüncü derece olarak adlandı-
rılan hasar derinliği ve zarar gören dokuların çok-
luğu göz önüne alınarak bir yanığın şiddeti sap-
tanabilir. 

 

 

 

38. Because much is still unknown about breast 
cancer and no single treatment works all the time, 
doctors may have different opinions about the 
most appropriate treatment. 

A) Göğüs kanseri için her zaman sonuç veren tek 
bir tedavi yönteminin bulunmamasının yanı sıra 
hastalıkla ilgili yeterli bilginin olmaması nede-
niyle hekimler arasında en etkili tedaviye ilişkin 
farklı görüşler mevcuttur. 

B) Göğüs kanserine ilişkin çok az şey ortaya kon-
duğu ve her zaman sonuç veren belirli bir tedavi 
yöntemi bulunamadığı için, hekimler en geçerli 
tedavi hakkında farklı düşünceler ileri sürmek-
tedir. 

C) Hekimler göğüs kanseri için en uygun tedavi 
hakkında çeşitli görüşler ileri sürmektedir; çünkü, 
bu hastalık hakkında yeterli bilginin olmaması, 
tek bir tedavinin her zaman geçerli kılınmasını 
engellemektedir. 

D) Göğüs kanseri hakkında yeterli bilgi olmadığı için 
her zaman sonuç veren tek bir tedavi yöntemi 
yoktur ve bu nedenle hekimler en uygun tedaviye 
ilişkin çelişkili düşünceler ortaya atmaktadır. 

E) Göğüs kanseri hakkında çok şey hâlâ bilinmedi-
ğinden ve hiçbir tedavi tek başına her zaman 
sonuç vermediğinden, hekimler, en uygun teda-
viye ilişkin farklı görüşlere sahip olabilirler. 
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39. – 41. sorularda, verilen Türkçe cümleye 
anlamca en yakın İngilizce cümleyi bulunuz. 

39. Yoksul ülkelerdeki çoğu insan, sıtma, AIDS, ve-
rem ile zengin ülkelerde daha az bilinen birçok 
hastalık çekmektedir; çünkü, hükümetleri, ilâç 
şirketlerinin istediği fiyatları karşılayamamak-
tadır. 

A) Malaria, AIDS, tuberculosis and a number of 
other diseases not known in rich countries affect 
many people in poor countries, where the 
governments are reluctant to pay the prices 
companies demand for drugs. 

B) Most people in poor countries suffer from 
malaria, AIDS, tuberculosis and many diseases 
lesser known in rich countries, since their 
governments cannot afford the prices drug 
companies want. 

C) Since malaria, AIDS, tuberculosis and various 
other diseases little-known in rich countries are 
very common among the people of poor 
countries, the governments find it hard to pay the 
prices demanded by companies for drugs. 

D) While a growing number of people in poor 
countries suffer from malaria, AIDS, tuberculosis 
and several other diseases unknown in rich 
countries, their governments refuse to pay the 
prices companies ask for their drugs. 

E) The governments in poor countries cannot afford 
to pay the prices companies want for their drugs, 
but more and more people are being affected by 
malaria, AIDS, tuberculosis and other diseases 
that do not occur in rich countries. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

40. İnsan vücudu, her biri, yaşamı sürdürmek için ge-
rekli olan bir işlevi yerine getiren ayrı ayrı organ 
ve dokulardan oluşmuş son derece karmaşık bir 
sistemdir. 

A) The human body is a highly complex system 
made up of separate organs and tissues, each 
performing a function essential to maintaining 
life. 

B) Since the human body consists of many different 
organs and tissues, each of which has a function 
essential for the maintenance of life, it is to be 
compared to an extremely complex system. 

C) The human body, which is an extremely complex 
system, is made up of innumerable organs and 
tissues which have separate functions essential 
for the maintenance of life. 

D) The presence of many different organs and 
tissues, each of which performs a function 
necessary for maintaining life, makes the human 
body a very complicated system. 

E) The human body is so complicated a system that 
each of the organs and tissues it consists of 
performs a function vital for maintaining life. 

 

 

 

41. Tümör büyümesine neden olan kanser kök hüc-
relerinin varlığı, çeşitli kan kanseri ve tümör tür-
lerinde tespit edilmiştir; ancak, bu habis kök hüc-
relerinin nasıl oluştuğu hâlâ belirsizdir. 

A) It has been shown that a wide range of blood 
cancer and tumour types result from malignant 
stem cells whose properties are not yet fully 
known. 

B) Cancer stem cells that cause tumour growth 
have been discovered in a number of blood 
cancer and tumour types, but it is not yet clear 
why they become malignant. 

C) Different blood cancer and tumour types are 
caused by cancer stem cells, although there is 
no evidence to show how these malignant stem 
cells come into being and drive tumour growth. 

D) Even though it is not yet certain how malignant 
stem cells form, they are often found in various 
blood cancer and tumour types, causing them to 
grow. 

E) The existence of cancer stem cells that drive 
tumour growth, has been established in several 
blood cancer and tumour types, but how these 
malignant stem cells arise is still uncertain. 



A 
 

 
ÜDS İNG. SAĞ. BİL. / MART 2008 

Diğer sayfaya geçiniz. 
  

  26 

42. – 46. sorularda, boş bırakılan yere, parça-
da anlam bütünlüğünü sağlamak için getirile-
bilecek cümleyi bulunuz. 

42. As anyone who has sat through a lecture on a 
warm day knows, attentiveness and mental 
alertness can be hard to sustain. ----. Its 
counterpart is sleep, a state in which we continue 
to receive stimuli but are not conscious of them. 

A) It is also important to regulate sleep 

B) Researchers can study the electrical activity in 
the brain during arousal and sleep 

C) It filters out some familiar and repetitive 
information that constantly enters the nervous 
system 

D) Arousal is a state of awareness of the outside 
world 

E) In general, the less mental activity that takes 
place, the more regular are the brain waves 
recorded on the electroencephalogram (EEG) 

 

 

 

 

 

43. Most people are familiar with one important 
function of the kidneys – to rid the body of waste 
materials that are either ingested or produced by 
metabolism. A second function that is especially 
critical is to control the volume and composition 
of the body fluids. For water and virtually all 
electrolytes in the body, the balance between 
intake and output is maintained in large part by 
the kidneys. ----. 

A) Each kidney in the human body is made up of 
about 1 million nephrons, each capable of 
forming urine 

B) This regulatory function of the kidneys maintains 
the stable environment of the cells necessary for 
them to perform their various activities 

C) Blood flow to the two kidneys is normally 21 per 
cent of the cardiac output, or about 1,200ml/min 

D) The two kidneys lie on the posterior wall of the 
abdomen, outside the peritoneal cavity 

E) These include urea, uric acid, creatinine and 
metabolites of various hormones 

 

 

44. In 1862, the English doctor John Langdon Down, 
who was the director of a home for mentally 
handicapped children, described the case of one 
of the children, who was short and had stubby 
fingers and unusual eyelids. The boy’s condition 
was later labelled by this doctor’s surname. ----. 
In 1959, the French paediatrician Jérome Lejeune 
discovered that these children have three copies 
of chromosome 21, instead of two. 

A) Physical limitations continue to challenge these 
individuals 

B) Today, more than 350,000 Americans have 
Down’s syndrome 

C) But the cause of Down’s syndrome was not 
uncovered for another century 

D) Scientists confirmed that within this chromosome 
are the genes that cause both Down’s syndrome 
and Alzheimer’s disease 

E) In 2004, American scientists tracked the effects 
of other genes on chromosome 21 

 

 

 

 

 

45. In the 1990s, most psychiatrists in the US started 
to treat children and teens with antidepressants 
designed for adults, since they wanted something 
more for them than talk therapy. ----. Now, 
however, studies have found that some 
antidepressants might interfere with normal 
patterns of growth in children’s still developing 
brains. 

A) Although these drugs had not been tested in the 
young brains of children, they hoped the benefits 
would outweigh the risks 

B) Several brain areas are commonly associated 
with depression such as those involved in mood, 
sleep, appetite, desire and memory 

C) Finding these effects in mice is a long way from 
proving that the same thing happens in humans 

D) Adults with depression usually recognize that 
they have a problem and they want to fix it, but 
children rarely ask to see a psychiatrist 

E) Concerns over antidepressant use led the FDA 
to issue a warning label for these medications 
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46. Ulcerative colitis is a disease in which extensive 
areas of the walls of the large intestine become 
inflamed and ulcerated. Some clinicians believe 
that it results from an allergic or immune 
destructive effect, but it could also result from a 
chronic bacterial infection. ----. 

A) The person may also have a fever and a poor 
appetite 

B) Even then, the ulcers sometimes fail to heal, and 
the only solution is removal of the entire colon 

C) Moreover, about 10 per cent of people who have 
the disease have only simple attacks 

D) Whatever the cause, there is a strong hereditary 
tendency for susceptibility to this disease 

E) Unlike Crohn’s disease, ulcerative colitis never 
affects the small intestine 

 

 

 

 

47. – 51. sorularda, karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz. 

47. Patient : 
- Dr Jameson, what are the safest exercises for 

me, as a middle-aged man, to improve my 
fitness? 

 
Dr Jameson : 
- There are several. Let me think which would be 

suitable for you. 
 
Patient : 
- ---- 
 
Dr Jameson : 
- Those would be fine. Cycling can also be 

useful. 

A) It will take time to make a decision, won’t it? I’ll 
call you to learn your recommendations. 

B) I would prefer walking and swimming. Forget 
the rest. 

C) At my age, would aerobics really be suitable? 

D) Let it be something natural: no exercising 
machines for me! 

E) I have to climb three flights of stairs to get to my 
home. Isn’t that enough exercise? 

 

48. Eleanor : 
- This article is about patients in a persistent 

vegetative state. Some of them wake up many 
years later, and some of them never do. 

 
Bob : 
- How do doctors decide whether or not these 

patients should be kept on life-support? 
 

Eleanor : 
- ---- 

Bob : 
- I suppose so. Obviously there are legal and 

medical concerns, but I think the family of the 
patient should have some rights in the matter, 
too. 

A) Sometimes a patient’s brain works around the 
damaged part, allowing the patient to begin to 
function normally again. 

B) One patient in a minimally conscious state 
started to speak and move about 19 years after 
he’d been injured. 

C) I don’t know how; but they do have to come to a 
decision. 

D) It is difficult for doctors to make accurate 
diagnoses of unconscious patients. 

E) A patient shows sensory responses to pain, even 
when the nervous system isn’t connected to the 
centres of the brain that cause it to experience it. 
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49. Senior Doctor : 
- I hear you’ve been doing research on 

alcoholism in Turkey. 
 
Junior Doctor : 
- Yes. I feel the findings are not all that alarming. 
 
Senior Doctor : 
- ---- 
 
Junior Doctor : 
- In a way, yes. For instance, nearly 8 per cent of 

adults in the US have a serious problem with 
alcohol use. 

A) Really? You say that in comparison with other 
developed countries? 

B) Aren’t they? It’s a fact that alcohol produces both 
psychological and physical dependence. 

C) In your report, you claim that men are four times 
more likely than women to become alcoholics. 

D) In general, alcoholics often can’t manage their 
behaviour and tend to drive while drunk. 

E) Well, alcohol is rapidly absorbed from the small 
intestine into the blood stream. 

 

 

50. Dr Clark : 
- Let me stress that the most troublesome 

problem of peritoneal dialysis is the risk of 
infection. 

 
Student : 
- We can use antibiotics to clear up the infection. 
 
Dr Clark : 
- ---- 
 
Student : 
- So it’s inevitable that in peritoneal dialysis, 

complications can occur any time. 

A) Generally, peritoneal dialysis is not performed in 
people who have abdominal wall infections. 

B) Yet that’s not all. Other problems are also 
associated with this type of dialysis. 

C) In peritoneal dialysis, a catheter is inserted 
through a small incision in the abdominal wall 
into the peritoneal space. 

D) Moreover, inflammation of the kidneys can also 
be caused by an infection. 

E) In fact, when the kidneys fail, waste products 
and excess water can be removed from the 
blood by haemodialysis. 

51. Jerome : 
- Did you see the documentary on TV about the 

US healthcare system? 
 
Mark : 
- ---- 
 
Jerome : 
- That’s right, many families have gone bankrupt 

paying for treatment for a family member. 
 
Mark : 
- Yes, and that’s not all. Some patients have even 

been refused treatment by hospitals. 

A) Yes; to tell the truth, I was hoping that it would 
be more thorough. 

B) Yes, but I didn’t have time to watch all of it. 

C) No, but I wanted to watch it. Did you? 

D) Yes. It’s getting worse and worse. 

E) No; I watched a film on another channel instead. 
Was it very informative? 
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52. – 56. sorularda, cümleler sırasıyla okun-
duğunda parçanın anlam bütünlüğünü bozan 
cümleyi bulunuz. 

52. (I) Mycobacterium tuberculosis has plagued humans 
throughout history. (II) Improved public health 
brought the epidemic under control, and the advent of 
antibiotics in the 1940s seemed to ensure successful 
treatment. (III) But the bacteria have adapted to 
nearly every drug used against them. (IV) As a result, 
there has been a recent resurgence, and the disease 
now kills a person every 15 seconds, worldwide.    
(V) The germ in question is the tuberculosis-causing 
Mycobacterium tuberculosis, once the leading cause 
of death in the US. 

A) I B) II C) III D) IV E) V 

 

 

 

53. (I) The most commonly used illegal drug in the US is 
marijuana. (II) Its potential for serious health 
consequences is still debated, but few authorities 
regard it as a major health risk. (III) In fact, a recent 
study found no increased death rates for marijuana 
users, except for men who died of AIDS.                
(IV) Moreover, marijuana has been used medically to 
treat glaucoma and to prevent the vomiting and 
nausea associated with chemotherapy. (V) Although 
this study does not determine cause and effect, it 
seems safe to assume that marijuana did not cause 
death from AIDS, but rather that men receiving a 
diagnosis of AIDS may have subsequently increased 
their use of marijuana. 

A) I B) II C) III D) IV E) V 

 

 

 

54. (I) The causes of depression aren’t fully understood. 
(II) A number of factors may make a person more 
likely to experience depression, such as a family 
tendency, side effects of certain medications, an 
introverted personality, and emotionally upsetting 
events. (III) For some reason, women are twice as 
likely as men to experience depression.                 
(IV) Psychological studies show that changes in 
hormone levels before menstruation and after 
childbirth may be factors. (V) Hormones also control 
the volume of fluid and the levels of salt and sugar in 
the blood. 

A) I B) II C) III D) IV E) V 

 

55. (I) Like all medicines, sleep medicines have side 
effects. (II) On the other hand, daytime drowsiness 
can be best avoided by taking the lowest dose 
possible. (III) The most common of these effects are 
dizziness, lightheadedness, and difficulty with 
coordination. (IV) Sleep medicines can also make 
one sleepy during the day. (V) How drowsy one feels 
depends upon how one’s body reacts to the 
medicine. 

A) I B) II C) III D) IV E) V 

 

 

 

 

 

 

 

 

 

 

56. (I) Doctors have noted a dramatic increase in bone 
fractures in children and teenagers in recent years. 
(II) Bones are rigid but not inflexible; they will bend in 
response to external forces. (III) For example, if you 
fall forward with your hands outstretched, the bones 
of your hands, wrists, and arms will flex to absorb the 
shock and then return to their original shape.         
(IV) However, as many of us know from personal 
experience, the skeletal system has its limits. (V) If a 
force is applied that exceeds a bone’s resiliency, the 
result is a broken bone, or fracture. 

A) I B) II C) III D) IV E) V 
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57. – 60. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Autism, from the Greek word for “self,” was first 
identified as a disorder in 1943. Initially, it was 
thought to be a psychological disorder brought on by 
cold or unemotional mothers, and curable by 
intensive sessions of psychotherapy. During the 
1960s, specialists realized that autistics frequently 
had epilepsy and abnormal brain scans, which led to 
the condition being recognized as a brain disorder by 
the 1970s. Autism is now known to be a hereditary 
neurological condition, about three times more 
common in boys than girls. Usually, autistics lack the 
ability to relate normally to other people and have an 
anxious desire to maintain a routine, which evolves 
with age into intense interests or obsessions. Many 
autistic people deliver monologues on topics while 
unaware of other people’s comments or possible 
discomfort. There are several related, but different, 
forms of autism. Depending on the severity, 
symptoms can sometimes be alleviated with carefully 
controlled antidepressants, although sufferers 
typically find it difficult to function normally in society. 

 

 

 

 

 

 

57. As is clear from the explanation given in the 
passage, ----. 

A) antidepressant drugs should not be used in order 
to reduce the severity of autism symptoms 

B) autism should not be regarded as a neurological 
disorder inherited from the family 

C) autism is not a single type of disorder with only 
one level of severity 

D) autism was a condition recognized by the 
ancient Greeks 

E) autistics can usually have a normal relationship 
with other people 

 

 

 

 

 

 

58. It is pointed out in the passage that it has taken 
the medical world several decades to ----. 

A) decide to what extent psychotherapy can be 
used in the treatment of autism 

B) decide on which antidepressants are the best for 
the treatment of autism 

C) discover how the relationship between mothers 
and their children has an effect on autism  

D) establish clearly which methods are most 
efficient to alleviate the symptoms of autism 

E) understand clearly what autism is and the 
causes that lead to it 

 

 

59. The point is made in the passage that what an 
autistic person normally does ----. 

A) can best be assessed through intensive sessions 
of psychotherapy 

B) is always tolerated, although it often draws other 
people’s attention 

C) is always ignored by other people, since it does 
not interest them at all 

D) in time develops into extreme fascinations or 
fixations 

E) is never taken into consideration in deciding the 
kind of treatment to be given 

 

 

60. It is stated in the passage that autism ----. 

A) can always be successfully treated by means of 
psychotherapy 

B) is an abnormality which has not yet been 
researched adequately 

C) is far more widespread among male than female 
children 

D) usually has only one symptom, which reveals 
itself as epilepsy 

E) is a single kind of neurological abnormality, 
which can be treated most effectively through 
antidepressants 

 

 

 



A 
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61. – 64. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Because oxygen is one of the major substances 
required for chemical reactions in the cells, it is 
fortunate that the body has a special control 
mechanism to maintain an almost exact and constant 
oxygen concentration in the extracellular fluid. This 
mechanism depends principally on the chemical 
characteristic of haemoglobin, which is present in all 
red blood cells. Haemoglobin combines with oxygen 
as blood passes through the lungs. Then, as the 
blood passes through the tissue capillaries, 
haemoglobin, because of its own strong chemical 
affinity for oxygen, does not release oxygen into the 
tissue fluid if too much oxygen is already there. If the 
oxygen concentration is too low, however, sufficient 
amounts are released to re-establish adequate tissue 
oxygen concentration. Thus, the regulation of oxygen 
concentration in the tissues depends principally on 
the chemical characteristics of haemoglobin itself. 

 

 

61. The passage describes ----. 

A) the structural and chemical characteristics of the 
cells in the human body 

B) the process of the maintenance of an adequate 
level of oxygen in body tissues by haemoglobin 

C) the chemical reactions which take place in all the 
cells throughout the body 

D) the vital importance of the lungs in providing 
oxygen for the red blood cells 

E) why oxygen plays a basic role in the chemical 
reactions of the cells 

 

 

62. It is stressed in the passage that haemoglobin      
----. 

A) is responsible for an exact and constant 
maintenance of oxygen in the tissues 

B) is a special mechanism whereby the level of the 
extracellular fluid in the body is regulated 

C) has a chemical characteristic which helps the 
blood pass through the tissue capillaries 

D) continually releases small amounts of oxygen 
into the tissue fluid in the body 

E) circulates through the blood only when the 
oxygen concentration in the tissue fluid becomes 
too low 

63. One understands from the passage that oxygen   
----. 

A) in the extracellular fluid always increases when 
there is a chemical reaction 

B) in the tissues has to be reduced in order to 
prevent over-concentration 

C) and haemoglobin in the body do not always have 
a constructive relationship  

D) is a substance that sometimes plays an adverse 
role in the body’s chemical reactions 

E) is necessary for the chemical reactions that take 
place in the cells 

 

 

 

 

 

 

 

 

64. It is explained in the passage that, when the level 
of oxygen in the tissue fluid decreases, ----. 

A) a long time is required to get it back to normal 

B) the activity of the red blood cells increases 
immediately to carry more oxygen to the cells 

C) haemoglobin lets out enough oxygen to bring it 
back to normal 

D) the amount of oxygen provided through the lungs 
increases in a remarkable way 

E) this has an adverse effect on the chemical 
efficiency of haemoglobin 

 

 

 

 

 

 

 



A 
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65. – 68. soruları aşağıdaki parçaya göre 
cevaplayınız. 

The evidence linking dietary fat with cancer is less 
conclusive than for heart disease, but it does suggest 
an association between total fat intake and some 
types of cancer. Dietary fat seems not to initiate 
cancer development but to promote cancer once it 
has arisen. Some studies report a relationship 
between specific cancers and saturated fat or dietary 
fat from animal sources, which is mostly saturated. 
Thus, health advice to reduce the risk of cancer 
parallels that given to reduce the risk of heart 
disease: reduce total fat intake, especially saturated 
fat. The relationship between dietary fat and the risk 
of cancer differs for various types of cancers. In the 
case of breast cancer, some studies indicate little or 
no association between dietary fat and cancer. 
Others find that total energy intake is a better 
predictor than the percentage of kcalories from fat. In 
the case of prostate cancer, there does appear to be 
a strong association with fat. This association 
appears to be due primarily to saturated fat from 
meats; fat from milk or fish has not been implicated in 
cancer risk. 

 

 

 

 

 

 

65. It is clear from the passage that, according to 
some studies, saturated fat ----. 

A) and its effect on a number of diseases, including 
heart disease, has yet to be further researched 

B) plays a primary role in the development of all 
kinds of cancer rather than in heart disease 

C) should only be consumed moderately so as to 
prevent all kinds of cancers 

D) does seem to have a link with certain types of 
cancer, of which prostate cancer is an example 

E) has only recently come to be regarded, in the 
light of extensive research, as a major cause of 
cancer 

 

 

 

 

66. A point is made in the passage that the medical 
advice given for the reduction of the risk of 
cancer ----. 

A) is the same as the medical advice given for the 
reduction of the risk of heart disease 

B) does not depend on any kind of conclusive 
evidence and, hence, can be ignored 

C) is only partially sound, since the cancer studies 
undertaken so far have not reached a convincing 
conclusion  

D) not only concerns the intake of saturated fat but 
is also related to the state of the individual’s 
health 

E) has been challenged by some specialists on the 
grounds that the causes of cancer have not been 
established fully 

 

 

67. As one learns from the passage, some suggest 
that, in assessing the risk of breast cancer, one 
should ----. 

A) also pay attention to the question of whether 
kcalorie intake affects the risk of heart disease 

B) focus primarily on the type of cancer and ignore 
the role of saturated fat 

C) take into consideration total energy intake rather 
than the levels of kcalories from fat 

D) closely study the variations observed in the 
percentages of kcalories from saturated fat 

E) be concerned not only with total energy intake 
but also with the percentages of kcalories from 
fat 

 

 

68. It is suggested in the passage that every cancer   
----. 

A) seems to develop as a result of the harmful 
effects of dietary fat 

B) is of a different kind and cannot necessarily be 
associated with dietary fat 

C) can be predicted through kcalorie percentages 
related to dietary fat 

D) is in some way associated with heart disease 

E) is just as fatal as breast or prostate cancer 

 



A 
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69. – 72. soruları aşağıdaki parçaya göre 
cevaplayınız. 

People who fail to eat enough food to meet energy 
needs risk nutrient deficiencies, including thiamin 
deficiency. Inadequate thiamin intakes have been 
reported among malnourished and homeless people. 
Similarly, people who derive most of their energy 
from empty-kcalorie items, like alcohol, risk thiamin 
deficiency. Alcohol contributes energy, but provides 
few, if any, nutrients and often displaces food. In 
addition, alcohol enhances thiamin excretion in the 
urine, doubling the risk of deficiency. Prolonged 
thiamin deficiency can result in the disease “beriberi,” 
which was first observed in East Asia when the 
custom of polishing rice became widespread. Rice 
provided 80 per cent of the energy intake of the 
people of that area, and rice hulls (the outer skin of 
rice) were their principal source of thiamin. When the 
hulls were removed, beriberi spread like wildfire. 
Because thiamin participates in nerve processes, 
paralysis sets in when it is lacking. The symptoms of 
beriberi include damage to the nervous system as 
well as to the heart and other muscles. 

 

 

 

 

 

69. According to the passage, thiamin deficiency ----. 

A) has been attributed mainly to excessive 
consumption of alcohol 

B) has always been very common among East 
Asian people 

C) and its effects were understood, to some extent, 
after the case of the East Asian people 

D) affects the nervous system and can lead to 
paralysis 

E) has been observed mostly among the homeless 
people of East Asia 

 

 

 

 

 

 

 

70. As is clear from the passage, undernourished 
people ----. 

A) usually suffer from a number of diseases which 
are linked to prolonged thiamin deficiency 

B) are likely to contract various diseases, in 
particular, beriberi 

C) are particularly vulnerable to thiamin deficiency 
and frequently suffer from heart disease 

D) must avoid alcohol and keep to a diet which is 
rich in thiamin 

E) may face nutrient deficiencies since they do not 
have enough energy intake 

 

 

71. In the passage, it is pointed out that alcohol ----. 

A) has a positive effect on nutrients in food and, 
thus, increases one’s intake of energy 

B) is a major source of all kinds of nutrients, 
especially of thiamin 

C) is an empty-kcalorie beverage and increases the 
urinary excretion of thiamin 

D) plays a positive role in overcoming one’s nutrient 
deficiencies 

E) provides a great deal of energy whereby 
inadequate thiamin intake is tolerated 

 

 

 

72. As one can understand from the passage, people 
in East Asia began to contract beriberi ----. 

A) due to excessive alcohol consumption 

B) when the hulls were removed from their rice 

C) due to damaged nerve processes caused by 
excess thiamin 

D) only because rice was excluded from their 
regular daily diet 

E) even though the food they took in contained all 
the nutrients needed 

 

 

 

 



A 
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73. – 76. soruları aşağıdaki parçaya göre 
cevaplayınız. 

The single most effective step people can take 
against hypertension is to find out whether they have 
it. At check-up time, a health-care professional can 
provide an accurate resting blood pressure reading. 
Under normal conditions, blood pressure fluctuates 
continously in response to a variety of factors 
including such things as talking or shifting position. 
Some people react emotionally to the procedure, 
which raises the blood pressure reading. For these 
reasons, if the resting blood pressure is above 
normal, the reading should be repeated before 
confirming the diagnosis of hypertension. Thereafter, 
the blood pressure should be checked regularly. In 
general, efforts to reduce high blood pressure focus 
on weight control, because excess body fat, 
especially abdominal fat, can precipitate 
hypertension. Indeed, weight loss alone is one of the 
most effective nondrug treatments for hypertension. 
Those who are using drugs to control their blood 
pressure can often reduce or discontinue the drugs if 
they lose weight. Even a modest loss of 5 kilograms 
may significantly lower blood pressure. 

 

 

 

 

 

73. According to the passage, weight loss ----. 

A) is certainly one way of overcoming hypertension 
effectively 

B) can be a very exhausting and boring process for 
some people 

C) can most effectively be achieved through the use 
of certain drugs 

D) is by itself not effective enough to reduce high 
blood pressure 

E) should be taken into consideration only when 
drug treatment for hypertension has failed 

 

 

 

 

 

 

74. It is clear from the passage that, before 
diagnosing hypertension, the health-care 
professional ----. 

A) must make sure that the patient has no 
emotional problems 

B) should advise the patient on the most effective 
methods of losing weight 

C) ought to recommend to the patient certain drugs 
that are effective for weight loss 

D) should repeat the blood pressure test if the first 
reading is above normal 

E) must first deal with excess body fat and bring the 
blood pressure under control 

 

 

75. It is pointed out in the passage that, normally, 
blood pressure ----. 

A) should not be regarded as a means to find out 
about hypertension 

B) has an irregular pattern in those people who 
have too much abdominal fat 

C) fluctuates widely among people who cannot 
control their emotions 

D) can be controlled and regulated through 
repeated readings 

E) is not stable, but constantly changes due to 
various reasons 

 

 

76. According to the passage, if a person with 
hypertension loses weight, ----. 

A) other nondrug treatments should be disregarded 

B) regular blood pressure readings may be 
discontinued 

C) every attempt should be made to read the blood 
pressure accurately 

D) it may be possible to decrease the dosage of 
hypertension medication 

E) effective drugs should be used to reduce 
abdominal fat in the first place 

 

 

 



A 
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77. – 80. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Oral cancers develop in 30,000 Americans and cause 
8,000 deaths each year, mostly in people over age 
40. This represents about 2.5 per cent of cancer 
cases and 1.5 per cent of all cancer-related deaths. 
Clearly this is a high rate considering the small size 
of the mouth in relation to the rest of the body. Along 
with cancers of the lung and skin, cancers of the 
mouth are more preventable than most other 
cancers. Non-cancerous and cancerous growths can 
originate in any type of tissue in and around the 
mouth, including bone, muscle, and nerve. Rarely, 
cancers found in the mouth region have spread there 
from other parts of the body – most commonly the 
lung, breast and prostate. Screening for oral cancer 
should be an integral part of medical and dental 
examinations because early detection is critical. 
Cancers less than a half inch across can usually be 
cured easily. Unfortunately, most oral cancers aren’t 
diagnosed until they’ve spread to the lymph nodes of 
the jaw and neck. Because of delayed detection, 25 
per cent of oral cancers are fatal. 

 

77. It is made clear in the passage that oral cancers   
----. 

A) account for 1.5 per cent of deaths from cancer in 
Americans 

B) are always cured effectively, since they are 
detected right away 

C) are more fatal than other cancers, such as 
breast and prostate cancers 

D) have only in the past few years become a major 
concern among dentists in the US 

E) are invariably caused by cancers in the rest of 
the body 

 

78. One understands from the passage that medical 
examinations ----. 

A) should be carried out once dental examinations 
confirm a non-cancerous growth in the mouth 

B) must always precede dental examination to 
detect cancerous growths in the mouth 

C) should include a check for the early detection of 
oral cancers 

D) must be made of all the body before the 
treatment of an oral cancer can be initiated 

E) should focus on cancerous rather than non-
cancerous growths in various parts of the body 

79. It is emphasized in the passage that the delay in 
the diagnosis of most cancers in the mouth ----. 

A) can have a harmful effect on other parts of the 
body, especially on the lungs 

B) can lead to the spread of these cancers to the 
jaw and neck areas 

C) should not be tolerated, since these cancers can 
spread to the breast and prostate 

D) is a primary cause of death among middle-aged 
people 

E) is not as serious as a delay in detecting skin 
cancers 

 

 

 

 

 

 

 

80. In this passage, the writer ----. 

A) is concerned with oral cancers in regard to their 
nature, early detection, and effects as well as 
their incidence rate in America 

B) explains in detail the importance of oral hygiene 
and how cancerous growths in the mouth can be 
prevented 

C) gives a wide range of reasons for widespread 
cases of lung cancer in America 

D) gives a full description of how oral cancers 
spread to many parts of the body, including the 
lymph nodes of the jaw and neck 

E) suggests that cancerous and non-cancerous 
growths in the mouth can only be differentiated 
through a full medical and dental examination 
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